THE GLOBAL CONVERGENCE OF THE GMED ITERATIVE ALGORITHM*

Tang Jin Wang Cheng-shu (Computing Center, Academia Sinica, Beijing, China)

Abstract

In the late 1970's, Wiggins proposed a minimum entropy deconvolution (MED) which has become one of the most important deconvolution methods. He gave a varimax norm V_2^4 and a MED iterative procedure. Fortunately, for the last ten years in the practical using, the MED algorithm has never failed to reach a maximizer of the varimax norm. But so far, no theoratical proof has been given to show the convergence of the MED procedure. In this paper, we prove the global convergence of a generalized MED iterative procedure with respect to a generalized varimax norm $V_q^p(q=2,p>2)$.

§1 Introduction

The minimum entropy deconvolution (MED) was proposed by Wiggins in the late 1970's and is based on the assumption of spiky and sparse appearance of the reflectivity series, instead of the minimum phase source signals and the white reflectivity series. Because of its new idea, simple iterative algorithm and weak hypotheses over the components, etc, it has attracted attention and become one of the most important deconvolution methods [2,3]. The detailed studies about the mathematical theories and multi-maximizer property of the MED have been given in [4,5,6,7]. Many other varimax norms and generalized MED methods suitable for various practical applications have been proposed in [8,9,10].

The generalized minimum entropy deconvolution (GMED) norm is

$$V_q^p = \frac{\sum_{i=1}^n |y_i|^p}{\left(\sum_{i=1}^n |y_i|^q\right)^{\frac{p}{q}}} = \max, \quad p, q > 0; \ p > q,$$
(1.1)

where $\{y_i\}_{i=1}^n$ is the output of the filtering. when p=4, q=2, the GMED norm is just the wiggins' MED. A MED iterative algorithm for solving the preceding problem was given and experiments evidenced that it worked well. Many tests were made in [7] with different initial points, and none of them failed to reach a maximizer of V_2^4 . But no one could be sure that there were no exceptions. Hence, a theoretical verification of the algorithm's convergence is necessary.

In this paper, we generalize the iterative procedure of V_2^4 by that of $V_q^p(q=2, p>q)$, and a proof of its global convergence is given.

^{*} Received March 1, 1988.

§2 The Iterative Procedure (GMED) of the Varimax Norm V_2^p

In this paper, the underlying field of a vector space is a set \Re of the real numbers. $\Re^{m \times n}$ denotes the set of $m \times n$ matrixes; \Re^m , the set of the m-dimensional vectors. If not otherwise specified, a capital letter stands for a vector, and the corresponding common letter with a subscript represents a component of the vector.

Set $A \in \Re^{m \times n}$. Ker A is the null of A, and Im A is the image of A. Namely,

$$\operatorname{Ker} A \equiv \{ U \in \Re^n \mid AU = 0 \},\$$

$$\operatorname{Im} A \equiv \{V \in \Re^m \mid V = AU, \text{ for any } U \in \Re^n\}.$$

Suppose $Y \in \Re^n, \alpha > 0$. Then, $Y^{\alpha} \in \Re^n, |Y| \in \Re^n$. That is,

$$Y^{\alpha} = (y_1 \mid y_1^{\alpha-1} \mid , y_2 \mid y_2^{\alpha-1} \mid , ..., y_n \mid y_n^{\alpha-1} \mid)^{\tau},$$

$$|Y| = (|y_1|, |y_2|, ..., |y_n|)^{\tau}.$$

The minimum entropy deconvolution filter is a linear filter, where the observed signals are

$$W = (x_1, x_2, ..., x_m)^{\tau}$$
.

Without loss of generality, let $x_1 \neq 0$. If the filter $F \in \Re^l$ $(F \neq 0)$, then its output $Y \in \Re^n$, n = m + l - 1, and by the convolutional property of the filter, we have

$$Y = XF. (2.1)$$

That is, $Y \in \text{Im}X$, where

$$X = \begin{pmatrix} x_1 \\ x_2 & x_1 \\ \vdots & x_2 & \ddots & x_1 \\ x_m & \vdots & \ddots & x_2 \\ & & x_m & & \vdots \\ & & & x_m \end{pmatrix}_{n \times l} . \tag{2.2}$$

Obviously, rank X = l, Ker $X = \{0\}$, and $X^rX > 0$ [11]. By convention, we have

$$\|Y\|_p = \left(\sum_{i=1}^n |y_i|^p\right)^{\frac{1}{p}}, \quad p \ge 1 \quad \text{(the H\"older norm)};$$
 $\|Y\|_{\infty} = \max_i |y_i| \quad \text{(the infinity norm)}.$

Definition 2.1. The generalized minimum entropy deconvolution of varimax norm V_q^P is the following maximizing problem:

GMED:
$$\max_{Y=XF} V_q^p = \max_{Y=XF} \left(\frac{\|Y\|_p}{\|Y\|_q} \right)^p, \quad p > q.$$
 (2.3)

For convenience, we will use the following representations

$$V_2^p(Y) = \left(\frac{\|Y\|_p}{\|Y\|_2}\right)^p, \ Y \in \Re^n; \quad V_2^p(F) = \left(\frac{\|XF\|_p}{\|XF\|_2}\right)^p, \ F \in \Re^l.$$

They have the following two characteristics.

Characteristic 1. Set $\alpha \neq 0$, then

$$V_2^p(\alpha Y) = V_2^p(Y), \quad V_2^p(\alpha F) = V_2^p(F).$$
 (2.4)

Characteristic 2. Let $S_n(\varepsilon)$, $S_l(\varepsilon)$ denote the superspheres in \Re^n , \Re^l with centers at the origins and radius ϵ respectively. Let $\Omega_n = \Re^n - S_n(\epsilon)$, $\Omega_l = \Re^l - S_l(\epsilon)$. For $\operatorname{Ker} X = \{0\}$, when $F \neq 0$, we have $Y \neq 0$. So, $V_2^p(Y)$ is twice differentiable in Ω_n , and $V_2^p(F)$ is twice differentiable in Ω_l .

Let

$$K = X(X^{\tau}X)^{-1}X^{\tau}. {(2.5)}$$

Obviously,

$$KK = K, \quad K^{\tau} = K, \tag{2.6}$$

$$Im K = Im X. (2.7)$$

Hence, K is an orthogonal projection onto Im X. $So^{[11]}$,

$$||K||_2=1; \frac{1}{\sqrt{n}} \leq ||K||_{\infty} \leq \sqrt{n}.$$

Lemma 2.1. For any $Y \in ImX$, we have

$$KY = Y, (2.8)$$

$$Y^{\tau}KY^{p-1} = ||Y^p||_1, \tag{2.9}$$

$$(Y^{p-1})^{\tau}KY^{p-1} = \parallel KY^{p-1} \parallel_2^2.$$
 (2.10)

Proof. Since K is an orthogonal projection onto $Im X, Y \in Im X$, then

$$KY = Y$$
.

Also,

$$Y^{\tau}KY^{p-1} = (KY)^{\tau}Y^{p-1} = Y^{\tau}Y^{p-1} = ||Y^p||_1.$$

From (2.6), we have

$$(Y^{p-1})^{\tau}KY^{p-1} = (KY^{p-1})^{\tau}(KY^{p-1}) = ||KY^{p-1}||_2^2$$
.

(2.8)-(2.10) are proved.

Define a map J:

$$J(Y) = \parallel KY^{p-1} \parallel_{\infty}^{-1} KY^{p-1}. \tag{2.11}$$

Let D(J), R(J) denote the domain and the range of the operator J respectively. Assume

$$D(J) = \{ Y \in \text{Im} X \mid || Y ||_{\infty} = 1 \}. \tag{2.12}$$

From (2.7), obviously $R(J) \in D(J)$.

Lemma 2.2. For any $Y \in D(J)$, there is

$$\frac{1}{\sqrt{n}} \le ||K||_{\infty}^{-1} \le ||KY^{p-1}||_{\infty}^{-1} < n.$$
 (2.13)

Proof. From (2.9) and the Cauchy inequality,

$$||KY^{p-1}||_2 ||Y||_2 \ge (KY^{p-1})^r Y = ||Y^p||_1$$
.

So,

$$\| KY^{p-1} \|_{2}^{-1} \le \frac{\| Y \|_{2}}{\| Y^{p} \|_{1}} < \sqrt{n}.$$

Then,

$$\parallel KY^{p-1} \parallel_{\infty}^{-1} \le \sqrt{n} \parallel KY^{p-1} \parallel_{2}^{-1} < n.$$

On the other hand,

$$\parallel KY^{p-1} \parallel_{\infty} \leq \parallel K \parallel_{\infty} \parallel Y^{p-1} \parallel_{\infty} = \parallel K \parallel_{\infty} \leq \sqrt{n}.$$

So, (2.13) holds.

The definitions and corresponding theorems of the boundary and the continuity for a nonlinear operator used hereafter can be found in [13].

Theorem 2.1. J(Y) is a bounded operator in D(J). That is, there exists an L > 0, such that for any $Y1, Y2 \in D(J)$, we have

$$|| J(Y1) - J(Y2) ||_{\infty} \le L || Y1 - Y2 ||_{\infty}$$
 (2.14)

Proof.

$$\begin{split} & \|J(Y1) - J(Y2)\|_{\infty} = \|\|KY_{1}^{p-1}\|_{\infty}^{-1} KY_{1}^{p-1} - \|KY_{2}^{p-1}\|_{\infty}^{-1} KY_{2}^{p-1}\|_{\infty} \\ & = \|(\|KY_{1}^{p-1}\|_{\infty}^{-1} - \|KY_{2}^{p-1}\|_{\infty}^{-1})KY_{1}^{p-1} + (KY_{1}^{p-1} - KY_{2}^{p-1}) \|KY_{2}^{p-1}\|_{\infty}^{-1}\|_{\infty} \\ & \leq (\|\|KY_{1}^{p-1}\|_{\infty}^{-1} - \|KY_{2}^{p-1}\|_{\infty}^{-1}) \|KY_{1}^{p-1}\|_{\infty} + \|KY_{1}^{p-1} - KY_{2}^{p-1}\|_{\infty} \|KY_{2}^{p-1}\|_{\infty}^{-1} \\ & \leq (\|\|KY_{1}^{p-1}\|_{\infty}^{-1} - \|KY_{2}^{p-1}\|_{\infty}^{-1}) \|KY_{1}^{p-1}\|_{\infty}^{-1} + \|KY_{1}^{p-1} - KY_{2}^{p-1}\|_{\infty} \|KY_{2}^{p-1}\|_{\infty}^{-1} \\ & \leq 2 \|KY_{2}^{p-1}\|_{\infty}^{-1} \|KY_{1}^{p-1} - KY_{2}^{p-1}\|_{\infty} \leq 2n(p-1) \|K\|_{\infty} \|Z_{\theta}\|_{\infty} \|Y_{1} - Y2\|_{\infty}, \end{split}$$

where

$$Z_{ heta} = \left(egin{array}{cccc} \mid y_{ heta 1}^{p-2}\mid & & & 0 \ & \mid y_{ heta 2}^{p-2}\mid & & & \ & & \ddots & & \ 0 & & \mid y_{ heta n}^{p-2}\mid \end{array}
ight).$$

By the mean-value theorem

$$y_{\theta i} = y_{1i} + \theta (y_{2i} - y_{1i}), \quad 0 < \theta < 1,$$

where y_{1i} , y_{2i} are the components of Y_1 , Y_2 respectively. For $\max\{|y_{1i}|\} = \max\{|y_{2i}|\} = 1$, $\max\{|y_{\theta i}|\} \le 1$. So, $||Z_{\theta}||_{\infty} \le 1$, and we obtain

$$||J(Y_1) - J(Y_2)||_{\infty} \le 2n(p-1)\sqrt{n} ||Y_1 - Y_2||_{\infty}.$$
 (2.14')

Let $L = 2n\sqrt{n}(p-1)$. Then (2.14') is just (2-14). So, (2-14) is proved.

Theorem 2.2. If $Y_* = XF_*$, and $Y_* \in D(J)$ satisfies

$$Y_* = J(Y_*),$$
 (2.15)

then F_* is a stationary point of $V_2^p(F)^{[12]}$. That is,

$$\nabla V_2^p(F_*) = 0, (2.16)$$

where

$$\nabla V_2^p(F_*) \equiv \left(\frac{\partial V_2^p}{\partial f_1}, \frac{\partial V_2^p}{\partial f_2}, \cdots, \frac{\partial V_2^p}{\partial f_l}\right)$$

Proof. For $Y \in D(J)$, $F \in \Omega_l$ and $V_2^P(F)$ is twice differentiable with respect to F. So we have

$$\nabla V_{2}^{p}(F) = \frac{p}{\parallel Y^{2} \parallel_{1}^{\frac{p}{2}+1}} X^{\tau}(\parallel Y^{2} \parallel_{1} Y^{p-1} - \parallel Y^{p} \parallel_{1} Y)
= \frac{p}{\parallel Y^{2} \parallel_{1}^{\frac{p}{2}+1}} (X^{\tau}X) (\parallel Y^{2} \parallel_{1} (X^{\tau}X)^{-1} X^{\tau}Y^{p-1} - \parallel Y^{p} \parallel_{1} F).$$

Let $\nabla V_2^p(F) = 0$. We obtain

$$F = \frac{\parallel Y^2 \parallel_1}{\parallel Y^p \parallel_1} (X^{\tau} X)^{-1} X^{\tau} Y^{p-1}. \tag{2.17}$$

Since $Ker X = \{0\}$, there is an equavalent equation of (2.17)

$$Y = \frac{\parallel Y^2 \parallel_1}{\parallel Y^p \parallel_1} K Y^{p-1}, \qquad (2.18)$$

where K is determined by (2.5). For

$$Y_* = J(Y_*) = ||KY_*^{p-1}||_{\infty}^{-1} KY_*^{p-1}$$
(2.19)

from (2.9) and (2.19) we have

$$\frac{\parallel Y_{\star}^{2} \parallel_{1}}{\parallel Y_{\star}^{p} \parallel_{1}} K Y_{\star}^{p-1} = \frac{\parallel Y_{\star}^{2} \parallel_{1}}{Y_{\star}^{r} K Y_{\star}^{p-1}} \parallel K Y_{\star}^{p-1} \parallel_{\infty} Y_{\star}$$

$$= \frac{\parallel Y_{\star}^{2} \parallel_{1}}{Y_{\star}^{r} \parallel K Y_{\star}^{p-1} \parallel_{\infty} Y_{\star}} \parallel K Y_{\star}^{p-1} \parallel_{\infty} Y_{\star} = Y_{\star}.$$

So, $Y_* = XF_*$ satisfies equation (2.18) and hence (2.17). Consequently, F_* is a stationary point of V_2^p .

Since $Ker X = \{0\}$, X is a bijection mapping from \Re^l onto Im X. For convenince, we also call $Y_* = XF_*$ a stationary point of V_2^p .

From (2.15), we construct the following iterative procedure (GMED):

GMED:
$$\begin{cases} Y_{(0)} \in D(J), \\ Y_{(k+1)} = J(Y_{(k)}). \end{cases}$$

If $Y_{(0)}$ is not a solution of (2.15), by (GMED), we can obtain a sequence $\{Y_{(k)}\}_{k=0}^{\infty}$ any of whose converging subsequences converges to a solution of (2.15). That is, the (GMED) is of global convergence. We will prove it in the ensuing section.

§3 The Proof of the Convergence

Let

$$g(Y) = || Y^2 ||_1 Y^{p-1} - || Y^p ||_1 Y.$$
 (3.1)

Then,

$$\nabla V_2^p(Y) \equiv \left(\frac{\partial V_2^p}{\partial y_1}, \frac{\partial V_2^p}{\partial y_2}, \dots, \frac{\partial V_2^p}{\partial y_n}\right)^{\tau} = \frac{p}{\parallel Y^2 \parallel_1^{\frac{p}{2}+1}} g(Y). \tag{3.2}$$

Lemma 3.1. For any $Y \in \mathbb{R}^n$ and $Y \neq 0$, there is

$$Y^{\tau}g(Y)=0. (3.3)$$

Proof. Substituting (3.1) into (3.3), we have

$$Y^{\tau}g(Y) = \parallel Y^{2} \parallel_{1} Y^{\tau}Y^{p-1} - \parallel Y^{p} \parallel_{1} Y^{\tau}Y = \parallel Y^{2} \parallel_{1} \parallel Y^{p} \parallel_{1} - \parallel Y^{p} \parallel_{1} \parallel Y^{2} \parallel_{1} = 0.$$

Lemma 3.2. Assume $U, V \in \Re^n$, $u_i, v_i \geq 0$, i = 1, 2, ..., n. For any $t \in (0, 1]$, there exist

$$\| U^2 \|_1 \| V^2 \|_1 \ge (U^t)^{\tau} (V^{2-t}) (V^t)^{\tau} (U^{2-t}).$$
 (3.4)

The equality holds iff

$$U=\alpha V, \quad \alpha \neq 0.$$
 (3.5)

Proof. Assume $A, B \in \Re^n$, $a_i, b_i \geq 0$ and $\frac{1}{p} + \frac{1}{q} = 1$, $p \geq q > 1$. From the Hölder inequality, we have

$$||A||_p ||B||_q \ge A^r B.$$
 (3.6)

The equality holds iff $A^p=\beta B^q$, $\beta\neq 0$. Let $t=\frac{2}{p}\in (0,1]$ in (3.6), and let $A^p=U^2, B^q=V^2$. Then we have

$$\| U^2 \|_1^{\frac{t}{2}} \| V^2 \|_1^{1-\frac{t}{2}} \ge (U^t)^r (V^{2-t}).$$
 (3.7)

Similarly, let $A^p = V^2$, $B^q = U^2$ in (3.6). Then we have

$$||U^{2}||_{1}^{1-\frac{t}{2}}||V^{2}||_{1}^{\frac{t}{2}} \ge (U^{2-t})^{\tau}V^{t}. \tag{3.8}$$

So, (3.4) is obtained by the product of (3.7) and (3.8).

Since the condition (3.5) is necessary and sufficient for the equality to hold in either (3.7) or (3.8), it is necessary and sufficient for the equality to hold in (3.4).

Lemma 3.3. For any $Y \in \text{Im} X$ and $\alpha > 0$, we have

$$-Y^{r}g(\alpha KY^{p-1}+Y)\geq 0. \tag{3.9}$$

The equality holds iff
$$Y = \beta K Y^{p-1}, \quad \beta \neq 0. \tag{3.10}$$

Proof. Note $W = \alpha KY^{p-1} + Y$. Then

$$-Y^{\tau} g(W) = -Y^{\tau} (\| W^{2} \|_{1} W^{p-1} + \| W^{p} \|_{1} W)$$

$$= \| W^{p} \|_{1} (\alpha Y^{\tau} K Y^{p-1} + Y^{\tau} Y) - \| W^{2} \|_{1} Y^{\tau} W^{p-1}$$

$$= \| W^{p} \|_{1} (\alpha \| Y^{p} \|_{1} + \| Y^{2} \|_{1}) - \| W^{2} \|_{1} Y^{\tau} W^{p-1}$$

$$= \| W^{p} \|_{1} \| Y^{p} \|_{1} (\alpha + \frac{\| Y^{2} \|_{1}}{\| Y^{p} \|_{1}}) - \| W^{2} \|_{1} Y^{\tau} W^{p-1}.$$

$$(3.11)$$

In Lemma 3.2, let $U = |W|^{\frac{p}{2}}, V = |Y|^{\frac{p}{2}}$, and $t = \frac{2}{p}$. We have

$$\|W^{p}\|_{1} \|Y^{p}\|_{1} \ge (|Y|)^{\tau} (|W|)^{p-1} (|Y|^{p-1})^{\tau} \|W\| \ge (|Y|)^{\tau} (|W|)^{p-1} (Y^{p-1})^{\tau} W$$

$$= (|Y|)^{\tau} (|W|)^{p-1} [\alpha \|KY^{p-1}\|_{2}^{2} + \|Y^{p}\|_{1}].$$

$$(3.12)$$

Substitute (3.12) into (3.11). Then

$$-Y^{\tau}g(W) \geq (|Y|)^{\tau} |W|^{p-1} (\alpha ||KY^{p-1}||_{2}^{2} + ||Y^{p}||_{1})(\alpha + \frac{||Y^{2}||_{1}}{||Y^{p}||_{1}})$$

$$-(|Y|)^{\tau}(|W|)^{p-1}(\alpha^{2} ||KY^{p-1}||_{2}^{2} + 2\alpha ||Y^{p}||_{1} + ||Y^{2}||_{1})$$

$$= \alpha(|Y|)^{\tau}(|W|)^{p-1} \left(\frac{||Y||_{2}^{2}||KY^{p-1}||_{2}^{2}}{||Y^{p}||_{1}} - ||Y^{p}||_{1}\right). \tag{3.13}$$

From Lemma 2.1 and the Cauchy inequality, we have

$$||Y||_{2}^{2}||KY^{p-1}||_{2}^{2} \ge ||Y^{p}||_{1}^{2}$$
. (3.14)

Substituting it into (3.13) and noticing $\alpha > 0$, we obtain (3.9).

In deducing inequality (3.9), the condition (3.10) is sufficient for all the equalities to hold; it is also necessary for the equalities in some inequalities such as (3.14) to hold. So it is necessary and sufficient for the equality to hold in (3.9).

From the previous results, we can conclude the following theorem.

Theorem 3.1. For any $Y \in \text{Im} X$, $Y \neq 0$, and $\alpha > 0$, we have

$$V_2^p(\alpha KY^{p-1}) \ge V_2^p(Y). \tag{3.15}$$

The equality holds iff (3.10) is satisfied.

Proof. From Ker $Y = \{0\}$ and Lemma 2.1, if $Y \neq 0$, then $KY^{p-1} \neq 0$. From (2.9), $Y^rKY^{p-1} > 0$. Then the line segment joining Y to KY^{p-1} is placed in Ω_n . Thus by the mean-value theorem, we have

$$V_2^p(\alpha KY^{p-1}) = V_2^p(KY^{p-1}) = V_2^p(Y) + (KY^{p-1} - Y)^{\tau} \nabla V_2^p(Y_{\theta}),$$

where $Y_{\theta} = \theta Y + (1-\theta)KY^{p-1}, 0 < \theta < 1$. From Lemma 3.1

$$(KY^{p-1} - Y)^{\tau} \nabla V_{2}^{p}(Y_{\theta}) = \left[\frac{1}{1 - \theta} Y_{\theta} - \frac{1}{1 - \theta} Y \right]^{\tau} \left[\frac{p}{\|Y_{\theta}^{2}\|_{1}^{\frac{p}{2} + 1}} g(Y_{\theta}) \right]$$
$$= -\frac{1}{1 - \theta} \frac{p}{\|Y_{\theta}^{2}\|_{1}^{\frac{p}{2} + 1}} \theta^{p+1} Y^{\tau} g \left(Y + \frac{1 - \theta}{\theta} K Y^{p-1} \right).$$

By Lemma 3.3, we have proved the theorem.

Corollary 3.1. Suppose $\{Y_{(k+1)}\}_{k=0}^{\infty}$ is a sequence produced by (GMED) procedure with initial point $Y_{(0)}$. Then

$$V_2^p(Y_{(k+1)}) \ge V_2^p(Y_{(k)}).$$
 (3.16)

The equality holds iff $Y_{(k+1)} = Y_{(k)}$.

Proof. As $\{Y_{(k)}\}\subset D(J)\subset \mathrm{Im}X$, from Theorem 3.1 we obtain (3.16). Since

$$||Y_{(k)}||_{\infty} = 1, \quad k = 0, 1, 2, ...$$

condition (3.10) implies $Y_{(k+1)} = Y_{(k)}$.

Theorem 3.2 (Global convergence of GMED iteration procedure). Suppose $\{Y_{(k)}\}_{k=0}^{\infty}$ is a sequence produced by GMED with initial point $Y_{(0)}$. Then any of its converging subsequences $\{Y_{(k_n)}\}_{n=0}^{\infty}$ converges to a stationary point of $V_2^p(F)$.

Proof. Since $||Y_{(k)}||_{\infty}=1$, the converging subsequence $\{Y_{(k_n)}\}$ of $\{Y_{(k)}\}$ exists. Set

$$\{Y_{(k_n)}\} \to Y_*, \ n \to \infty.$$

As D(J) is a complete set, so

$$Y_* \in D(J)$$
.

Let

$$Y_{(k_n+1)} = J(Y_{(k_n)}), (3.17)$$

and suppose $\{Y_{(k_n+1)}\}$ has a converging subsequence $\{Y_{(j_n+1)}\}$ which has a limit $Y_*'\in D(J)$ and satisfies

$$Y_{(j_n+1)} = J(Y_{(j_n)}).$$
 (3.18)

Obviously, $\{Y_{(j_n)}\}$ is a subsequence of $\{Y_{(k_n)}\}$. As the operator J is bounded, and hence continuous,

$$Y_{(j_n+1)} \to Y'_*, \quad j_n+1 \to \infty; \quad J(Y_{(j_n)}) \to J(Y_*), \quad j_n \to \infty.$$

From (3.18),

$$Y'_{\star}=J(Y_{\star}).$$

As $\{Y_{(j_n+1)}\}$ and $\{Y_{(j_n)}\}$ are subsequences of $\{Y_{(k)}\}$, from Corollary 3.1 we have

$$V_2^p(Y_*') = V_2^p(Y_*).$$

Hence

$$Y_* = Y'_*$$

and then

$$Y_* = J(Y_*).$$

By Theorem 2.2, Y_* is a stationary point of $V_2^p(F)$.

According to the theory of mathematical programming[12], the conclusions of Theorem 3.2. imply the global convergence of GMED iteration procedure.

References

- [1] R.A. Wiggins, Minimum entropy deconvolution, Geoexpl., 16 (1978), 21-35.
- [2] E.A.Robinson, Statistical pulse compression, Proceedings of the IEEE, 72: 10 (1984), 1276-1289.
- [3] A.Jurkevics and R.Wiggins, A critique of seismic deconvolution methods, Geophysics, 49:12 (1984), 2109-2116.
- [4] D.Donoho, On minimum entropy deconvolution, Applied Time Series Analysis II, 1981, 565-608.
- [5] Wang Cheng-shu, Asymptotic behavior of minimum entropy filtering operator, Math. Num. Sin., 3: 3(1981), 272-276. (Chinese)
- [6] Cheng Qian-sheng, Theory of minimum entropy deconvolution, Oil Detection, 1981, 54-64. (Chinese)
- [7] W.A.Nickerson and T.Matsuoka, T.J.Ulrych, Optimum-lag minimum-entropy deconvolution, SEG 56, 1986, 519-522.
- [8] Wang Cheng-shu and Zhang Yu-ping, Adaptive least square deconvolution and application to seismic prospecting, Acta Geophysica Sin., 30: 3 (1987), 307-317. (Chinese)
- [9] M.Ooe and T.J.Ulrych, Minimum entropy deconvolution with an exponential transformation, Geophysical Prospecting, 27 (1979), 458-473.
- [10] T.J.Ulrych and C.Walker, Analytic minimum entropy deconvolution, Geophysics, 47: 9 (1982), 1295-1302.
- [11] P.Lancaster and M.Tismenersky, The Theory of Matrices with Applications, Second edition, Academic Press, 1985.
- [12] D.G.Luenberger, Introduction to Linear and Nonlinear Programming, Addison-Wesley Pub. Co., 1973.
- [13] F.Szidarovszky and S.Yakowitz, Principles and Procedures of Numerical Analysis, Plenum Press, 1978.
- [14] C.S.Wang and J.Tang, The convergence of MED iterative algorithm for kurtosis norm, to be published.